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6.3 Example: Female Labor Participation in 27 Nations (Including the portion of Appendix)
Descriptive statistics 
“Analyze” → “Descriptive Statistics” → “Descriptives” → In the pop-up box, move flabor, gdp, and fertility under “Variable(s)”, click “Options” and select Variance and Range → “OK”

	Descriptive Statistics

	
	N
	Range
	Minimum
	Maximum
	Mean
	Std. Deviation
	Variance

	Flabor
	27
	50.16
	33.25
	83.41
	60.4737
	13.23280
	175.107

	Gdp
	27
	70.49
	.40
	70.89
	24.2241
	23.03857
	530.776

	Fertility
	27
	4.05
	1.30
	5.35
	2.3885
	1.25657
	1.579

	Valid N (listwise)
	27
	
	
	
	
	
	



Making squared GDP per capita 
“Transform” → “Compute Variable” → In the pop-up box, type in new variable name (gdp_squared) under “Target Variable” and type in “gdp**2” or “gdp* gdp under “Numeric Expression”. → “OK” 

Correlation among X’s 
“Analyze” → “Correlate” → “Bivariate” → In the pop-up box, move gdp, gdp_squared, and fertility to “Variable(s)”. → “OK”

	Correlations

	
	gdp
	gdp_squared
	fertility

	Gdp
	Pearson Correlation
	1
	.957**
	-.614**

	
	Sig. (2-tailed)
	
	.000
	.001

	
	N
	27
	27
	27

	gdp_squared
	Pearson Correlation
	.957**
	1
	-.451*

	
	Sig. (2-tailed)
	.000
	
	.018

	
	N
	27
	27
	27

	fertility
	Pearson Correlation
	-.614**
	-.451*
	1

	
	Sig. (2-tailed)
	.001
	.018
	

	
	N
	27
	27
	27

	**. Correlation is significant at the 0.01 level (2-tailed).

	*. Correlation is significant at the 0.05 level (2-tailed).




Multiple regression with squared variable (Y = flabor, X = gdp, gdp_squared, fertility)
“Analyze” → “Regression” → “Linear” → In the pop-up box, move flabor to “Dependent”, and move gdp, gdp_squared, and fertility to “Independent(s)”. → “OK”

	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	.723a
	.522
	.460
	9.72589

	a. Predictors: (Constant), fertility, gdp_squared, gdp




	ANOVAa

	Model
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	1
	Regression
	2377.148
	3
	792.383
	8.377
	.001b

	
	Residual
	2175.637
	23
	94.593
	
	

	
	Total
	4552.785
	26
	
	
	

	a. Dependent Variable: flabor

	b. Predictors: (Constant), fertility, gdp_squared, gdp




	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	T
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	60.248
	9.208
	
	6.543
	.000

	
	gdp
	-1.005
	.398
	-1.750
	-2.523
	.019

	
	gdp_squared
	.016
	.006
	1.672
	2.725
	.012

	
	fertility
	2.987
	2.385
	.284
	1.253
	.223

	a. Dependent Variable: flabor




Partial model without GDP per capita and squared GDP per capita (Y = flabor, X = fertility)
“Analyze” → “Regression” → “Linear” → In the pop-up box, move flabor to “Dependent”, and move fertility to “Independent(s)”. → “OK”

	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	.604a
	.364
	.339
	10.75804

	a. Predictors: (Constant), fertility




	ANOVAa

	Model
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	1
	Regression
	1659.400
	1
	1659.400
	14.338
	.001b

	
	Residual
	2893.385
	25
	115.735
	
	

	
	Total
	4552.785
	26
	
	
	

	a. Dependent Variable: flabor

	b. Predictors: (Constant), fertility




	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	45.288
	4.513
	
	10.034
	.000

	
	fertility
	6.358
	1.679
	.604
	3.787
	.001

	a. Dependent Variable: flabor



6.5 Appendix 

 “Transform” → “Compute Variable” → In the pop-up box, type in new variable name (gdp_center) under “Target Variable” and type in gdp – 24.2241 under “Numeric Expression”. → “OK” 
 “Transform” → “Compute Variable” → In the pop-up box, type in new variable name (gdp_center_squared) under “Target Variable” and type in “gdp_center**2” or “gdp_center* gdp_center under “Numeric Expression”. → “OK” 

Multiple regression with centered GDP per capita and centered GDP per capita squared (Y = flabor, X = GDP_center, GDP_center_squared, fertility)
“Analyze” → “Regression” → “Linear” → In the pop-up box, move flabor to “Dependent”, and move gdp_center, gdp_center_squared, and fertility to “Independent(s)”. → “OK”

	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	.723a
	.522
	.460
	9.72589

	a. Predictors: (Constant), fertility, GDP_center_squared, GDP_center




	ANOVAa

	Model
	Sum of Squares
	Df
	Mean Square
	F
	Sig.

	1
	Regression
	2377.148
	3
	792.383
	8.377
	.001b

	
	Residual
	2175.637
	23
	94.593
	
	

	
	Total
	4552.785
	26
	
	
	

	a. Dependent Variable: flabor

	b. Predictors: (Constant), fertility, GDP_center_squared, GDP_center




	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	T
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	45.219
	4.974
	
	9.092
	.000

	
	GDP_center
	-.236
	.146
	-.410
	-1.611
	.121

	
	GDP_center_squared
	.016
	.006
	.552
	2.725
	.012

	
	Fertility
	2.987
	2.385
	.284
	1.253
	.223

	a. Dependent Variable: flabor



Correlation between centered GDP and centered GDP squared
“Analyze” → “Correlate” → “Bivariate” → In the pop-up box, move gdp_center and gdp_center_squared to “Variable(s)”. → “OK”

	Correlations

	
	GDP_center
	GDP_center_squared

	GDP_center
	Pearson Correlation
	1
	.470*

	
	Sig. (2-tailed)
	
	.013

	
	N
	27
	27

	GDP_center_squared
	Pearson Correlation
	.470*
	1

	
	Sig. (2-tailed)
	.013
	

	
	N
	27
	27

	*. Correlation is significant at the 0.05 level (2-tailed).




